PART C— LONG ANSWER

S tf a meter, what is the length of line segment SP?

Z i\-ec]noQ P\A(-c_\. 0

A ¥ 0

%/ 21 N
SAO L AR A 5453 R £ gf\?‘ sa S

oS = (UM Yasa )

Sva/ b3 -\7 ;2\{ 5\"\!‘!‘\— ><
"
5?/5 = 0.51%:
7= (7).5\'\2.\‘
S 3 A >
SiA \Z_‘(
7z 343




11. Inthe Cartesian plane below:
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point S is on the y-axis
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&Nhat is the distance from point S to point R?
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12. What is the measure of x to the nearest tenth of a metre?
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13. On Monday, Michael stops at the school cafeteria to buy 3 hot dogs and 4
hamburgers for $26.25

Tuesday, he buys 5 hot dogs and 3 hamburgers for a total of $27.25

How much will it cost Michael on Friday, when he buys 7 hot dogs
and 5 hamburgers?
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Part A
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Part B

The x-interceptis (_" 34 , O )

The y-interceptis(_ © , 2\ )

The areais Zc0 , | m?>

Angle C measures ___' 2.9 degrees



